Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name : Mobile Application and Development

Subject Code : 2TEO6MAD1

Semester: 6 Date: 02/05/2022

Branch: Diploma (CE)

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Time: 02:30 To 05:30 Marks: 70

Q-1

f)

9)
h)

Attempt the following questions:

What is the full form of PLMN?

[A] Public Local Mobile Network  [B] Public Land Mobile Network
[C] Portable Local Mobile Network [D] Portable Land Mobile Network
The full form of SMS is

[A] Short Mobile Service [B] Shell Message Service

[C] Short Message Service [D] Start Message Service

What is the full form of TDMA?

[A] Time Division Mode Access [B] Time Division Mobile Access
[C] Total Division Multiple Access [D] Time Division Multiple Access
What is the full form of FDMA?

[A] Frequency Division Multiple Access

[B] Frequency Dead Mode Access

[C] First Division Multiple Access

[D] Frequency Division Mobile Access

The full form of SIM is

[A] Subscriber Identity Module [B] Subscriber Identification Module

[C] Simple Identify Mobile [D] Subscriber Identity Mobile
Which of the following virtual machine is used in android?

[A] Java Virtual Machine [B] Dalvik Virtual Machine
[C] Oracle Virtual Machine [D] Android Virtual Machine
Android is based on which of the following language?

[A]C [B] C++ [C] Java [D] None of the above
APK stands for —

[A] Android Phone Kit [B] Android Page Kit

[C] Android Paper Kit [D] Android Package Kit

What does API stand for?
[A] Application Programming Interface [B] Android Page Interface
[C]Android Programming Interface [D] Application Page Interface

(14)
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j)  What does AVD stand for?
[A] Android Virtual display [B] Android Virtual device
[C] Active Virtual display [D] Active Virtual device
k) Does android support other languages than java?
[A] No [B] Not at all possible [C] Yes [D] May be
I)  What is the full form of UMTS?
[A] Universal Machine Telemedicine System
[B] Ubiquitous Mobile Telephone System
[C] Ubiquitous Mobile Telemetry System
[D] Universal Mobile Telephone System
m) UMTS is also known as

[A] GPRS [B]1S-95 [C]W-CDMA [D] CdmaOne
n) A GPRS Network works same in .
[A] 2G [B] 3G [C]4G [D] 2G and/or 3G
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
A Draw and explain android architecture. 7
B  Explain Activity Life Cycle of Android in brief 7
Q-3 Attempt all questions (14)
A Explain various types of wireless communication technologies used in 7
mobiles.
B  Explain mobile computing functions. 7
Q-4 Attempt all questions (14)
A Explain three tier architecture of mobile computing. 7
B Draw and explain GSM architecture. 7
Q-5 Attempt all questions (14)
A  Explain call routing in GSM. 7
B Develop android applications which display your name on screen. 7
Q-6 Attempt all questions (14)
A Draw and explain GPRS architecture. 7
B  Explain application and limitation of GPRS. 7
Q-7 Attempt all questions (14)
A What is CDMA? Compare CDMA Vs GSM. 7
B Compare 3G Vs. 4G 7
Q-8 Attempt all questions (14)
A Write applications of 3G & 4G. 7
B Develop android application to demonstrate toggle button. 7
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Q-1

b)

d)

f)

9)

h)

)

K)

Attempt the following questions: (14)

PLMN of Y3 olld 9] 87

a) ulds dlsa Hlolsd aecs b) UlbdAs Aos HNSAH A2ab
c) Weud Alsd ol aea d) Weud Aes Mol azas
SMSej ygleau__ B

a &sl vl Acll b. At g2l Acll

ceslaqal d. AzaAa a3 52A

TDMA of Y3 ol 9 82

a2l SU (3%t s AAA b, 2sH [3(Axet Nauscd AsAU
c A 3(Axet HABlUA AAU  d. atesH (3(Q23et HEBlud AsAU

FDMA of Y3 ollH g 8?

a) glscloll (3[QAxset HeBlua AsAU b) glscloxll 35 s AsA™U

¢) 52 (3(ARet HAE U AsAU d) glsctell (3(Qet HlousSd AsAA
SIMo Yol 8

a) UCRSIB61R W33 WsyA b) UGRSIBGR WS (R (EF 2t WY
c) Rud U3 [e 5tes NeAlBE d) RSB B[] Helsd
WoRleSS U ol ActtHiell 53f cARfuA Hallot duvNA B?

[A] ostell aRucA Hallat [B] sUcAs clefuct Hallot

[C] HRsA clRfuc Hellot [D] AoQless ctfmet Hallol

WoSl8S ol Aot Ml 56 ML UR UUR A B?

[A] C [B] C++ [C] Java [D] GURsctHill 815 ol&l
APK oll e B -

[A] RGBS ot (32 [B] AoSless o (32

[C] AeQless AUR (52 [D] AeQless Uy (52

AP oll gl 9 B?

[A] A2t Dol Sozd [B] AeQESs W% o223
[C] AeSleSs WDl SozFU [D] AAZt Vo o3
AVD oll ud 9 82

[A] WeRlEs aRjud (3 [B] AT cARJud GusW

[C] B cud Bra D] AUBA cruc GusWal

9| WoRleFs tcll RclaA Bod UNMRAA UWE 52 B?

[A] =l [B] (Adsd st otell [c] &l [D] & 25 ®

UMTS of Y3 ollH g 8?

[A] YAadd Hallet 2AABRI Reu
[B] dcaus Housd 2Aslet Reu
[c] ddcaus Huse @R Rex
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[D] YRaic Qousad 2Aset Rieu

m) umTs a Ay ugL Al A B

[A] oUlARAA  [B] WA -95  [C] secy-{SlAHA  [D] ASlAHRA et

N) GPRS A2ab Ui et s 52 B.

[A] 2G [B] 3G [C] 4G [D] 2G ol /n¥Ucl 3G

Attempt any four questions from Q-2 to Q-8

Q-2

A
B

Attempt all questions

WoHlSs UUSZSUR E1 Wl UM

ARlBsell Ug Yot Usa g5HL AHAIA

Attempt all questions

HolSedl auRdl @Qu ysRell cdlaraxd sLgjdelet 25l

AHost Al

HoUsA 51RY(3aL stal ALl
Attempt all questions
ol 51 2loLetl QL et UU(E25URA AHSIAL.

HUUBH U(S5UR 1R el UMl
Attempt all questions

A GSM Ml Slct 38101 UM

WoHlss WAlBalo SAAU 53 % 2glol UR M3 oltH £2a.
Attempt all questions
GPRS A((525UR €1 wal AHA.

GPRS ofl A@F et WA HAlEL AHA.
Attempt all questions
CDMA 3| 8? CDMA Vs GSM o{l 2utt1(l 521,

3G Vs 4G ofl AuuHell 53U
Attempt all questions

A 3G wa 4G ol AM@AB A AL,

2L oleat galaell HIZ WoFless AAZ Aot (A5t 5.
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